04
® REGON 301392398

eM infrapolis@op.pl

NUMER RYS.
DATA | PODPIS

12.2022
12.2022

*

100
~ 1000

NR UPRAW.

®  NIP 665-254-72-59

Profil podtuzny
SKALA
WKP/0122/PWOD/18
specjalno$¢ inzynieryjna drogowa
specjalnos¢ drogowa
® T63242 28 06

WKP/0099/PWOD/10

Z- 2022
62-510 Konin, ul. Gérnicza 6/18

NR ZLEC.

62-504 Konin, Posoka ul. Cytrynowa 16

Bartosz Urbaniak

IMIE | NAZWISKO
Krzysztof Kasprzyk

*

mgr inz.
mgrinz.

]

TRESC
BRANZA
Drogowa

OPRACOWAL
PROJEKTOWAL
SPRAWDZIL
Biuro / Korespondencja

INFRAPOLIS Bartosz Urbaniak

\

L:42.197m
R: 5000.000m
T:0.045m
D: 21.099m

T:0.011m

L: 14.914m
R: 2500.000m
D: -7.457m

L: 14.401m
R: 2500.000m
T:0.010m
D: 7.200m
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